The year(s) in perspective: 2016 -> 2017

1. How many days were there in 2016?

366 (leap year)
2. Is 2017 a prime number?

Yes!! Previous 2011 , next 2027 (2021 = 43*47 )
3. How many days will there be in 2017?

365

Unit 7

Warm-up: Need to know ! Radical expressions

-2 7, (B =14
L 83.8-2 = 8. (a=3)~* =2
B (4xc3y2) =? ORR(@xys>)3
[ORE0xEy722-4)% =2
i1, [ =) =2

12. True or False:
32203y a.  [3x]=3|x|
° kel b. la+bl=lal + [b|
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201 7 NeW year Radical expressions

What is the value of :

22018 o 22016

22018 _ 72016

() =il B) 1 © = (D) 2016
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2017 New year Radical expressions

Which of the following is the same as the ratio

22016 , 32018

62017
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Drill warm up Two Sjmp[e Radical expressions

Q=) - =5 - >

(A) 4 (B) Vo

2. |x|+|-x|=

(4) 0 (B) Ix|
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Two Simp[e Radical expressions Radicals Radical expressions
(Mc0 |
Bt x10— (7) - (x + 1) Simplify

c+4 _ 1
4 P 2(2x+1)

x (B)F>c2 (@) &4 \/W

® % ® =

If VM-A-T-H=M-A-T, then the value of H must be:

M-A-T (B) VM- AT (C) M%-4A2.T2
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Unit 7
Radical expressions

Drill warm up Radicals
T

1. Simplify: %\/TV:' + ;VTG +%\/72' = Assume x < 0 . Which of the following is equivalent to

2 12,/68x°y > 985Xy _
T TTmne N

A. 3/T7x%y B. 6,/68x%y —9,T7x%y C. 21x/T7y D. 3lx|{/T7xy

Unit 7
Radical expressions

Warm-up (timed!) Radicals
R

. Simplify: \/32' Simplify (N is a positive integer greater than 1)
. Simplify: /20x°y?z3

. Simplify: 5V3- (3v8 —+/3)

. Simplify: 4v3 + 2v/TZ — 248 + 375

A A 5 . 2
. Rationalize denominator: =7

. Rationalize den ®) N7
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Radicals Radical expressions Radicals Radical expressions
Anc0 |

Simplify (x is a positive integer greater than 1)

J

(A)F253* (B) 25:11 C) S;E (D)53* (E)none of these

Unit 7 Unit 6

Radicals Radical expressions Word problems Rational expressions

Explain: Sally can type one page in 10 minutes.

Tim can type one page in 15 minutes.

How long will it take them together to type 100 pages?




Solving rational expression

It takes 2 hours to drive between the towns of San-Jose
and San-Francisco.
It takes 8 hours to make the same trip by bicycle.

How long will it take for a bicycle and car to meet,
starting at opposite towns at the same time?
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